1.  Solve x2 – 8x + 20 = 5

2.  Solve
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3. Solve and check for extraneous solutions
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4. Solve by quadratic formula.

-3x2 – 2x + 5 = 0

5. Solve by quadratic formula.

-x2 – 3x + 5 = 0

6. The crop yield in bushels for a field of tomatoes is 10x2 – 80x + 200 where x is number of pound of fertilizer used.

a) How many pounds of fertilizer should be used to maximize the yield?

b) What will be the maximum yield?

7. Solve the inequality z2 – 16 < 0. 
State the interval(s) where the inequality is valid using the symbols <, >, <=, >= . 

8. Solve the inequality    
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State the interval(s) where the inequality is valid using the symbols <, >, <=, >= . 

9. Find all the real solutions to -2x2 – 7x – 4 = 0.

10. Find all the real solutions to 2x2 – 4x – 5 = 0
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